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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–IV • EXAMINATION – SUMMER • 2014 

Subject Code: 341904 Date: 03-06-2014        

Subject Name: Theory of Machine 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) Differentiate between 

(1) Kinematics and Dynamics 

(2) Lower pair and higher pair 

(3) Machine and mechanism 

07 

 (b) State the different types of inversions of a double slider crank chain 

mechanism. Explain any one of them with neat sketch. 

07 

    
Q.2 (a) In an I.C.Engine the length of the crank and connecting rod are 0.2m and 0.8m 

respectively. The crank rotates uniformly at 420 rpm in clockwise direction. 

The crank has turned to 30
o 

from I.D.C. Determine the followings by graphical 

methods or by klein’s construction.  

(i) Velocity of piston 

(ii) Acceleration of piston. 

07 

 (b) List types of cams and Followers. Explain working of valve mechanism of I.C. 

Engine with sketch. 

07 

  OR  

 (b) ABCD is a four bar mechanism. AB=8cm, BC=11cm, CD=9 cm, AD=16cm 

and BAD=60°. Link AD is Fixed and point B and C lies on same side of AD 

.link       AB rotates at 60 RPM clock wise. Find (a) velocity of link CD. (b) 

Angular      velocity of link BC.  

07 

    
Q.3 (a) Draw the cam Profile to reciprocate the knife edge follower from the 

following details. 

(1) Out stroke of follower is with S.H.M. for 120◦ rotation of cam.  Lift of 

follower = 42mm. 

(2) Follower remains lifted during next 60◦ rotation of cam. 

(3) Follower moves inward with uniform velocity during 90◦ of cam rotation. 

(4) For remaining period of cam rotation, the follower remains at the bottom. 

(5) Least Radius of cam is 30mm and cam rotates in clockwise direction. 

07 

 (b) List types of clutches and explain construction and working of a single plate 

clutch.  

07 

  OR  

Q.3 (a) In a simple band break, the band subtends an angle of 270
o 

at the center of 

break drum which is 0.8m in diameter and rotates anticlockwise at 360 rpm. A 

breaking torque of 750 Nm is required. One end of the band is connected to 

the fulcrum and other end to a pin on lever at a distance of 150 mm on the 

right hand of the fulcrum. If µ = 0.30, find the force required at the end of 

lever 1.2m long.  

07 

 (b) List various types of dynamometers. Explain rope brake dynamometer. 07 

    
Q.4 (a) State need of power transmission system. Explain types of belt drive. 07 

 (b) Derive the tension ratio T1/T2 = e
μθ

 for a flat belt drive 07 
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Where, 

T1 = Tension on tight si 

T2 = Tension on slack side 

μ = Co-efficient of friction 

θ =Angle of lap 

  OR  

Q. 4 (a) Explain Reverted gear train and state its application. 07 

 (b) A flat belt 120mm wide and 10mm thick is used to transmit power from a 

smaller pulley running at 180 rpm and 0.8 m diameter. The allowable stress in 

the belt is not exceed 1.8 MPa. Angle of contact of belt on smaller pulley is 

170
o 

and co-efficient of friction for belt is 0.27. neglecting centrifugal tension 

in the belt, find the power transmitted by the belt. 

07 

    
Q.5 (a) Draw the Turning Moment diagrams for the followings: 

(i) Single cylinder double acting steam engine 

(ii) Four-stroke cycle Internal Combustion engine.  

(iii) Press machine. 

07 

 (b) State the difference between fly wheel and governor. Explain working of 

Hartnell Governor. 

07 

  OR  

Q.5 (a) The turning Moment diagram for multi-cylinder engine represents output 

torque above and below the mean torque line in order from one end are  +52, 

 -120, +92, -140, +85, -75 and  +106 in N-m. Calculate maximum fluctuation 

of energy and mass of the flywheel, if engine speed is 360 rpm and Ks = 0.025. 

The radius of gyration is 0.5m. 

07 

 (b) State need of balancing. Explain the balancing of a single rotating mass. 07 
 

************ 



3/4 

ગજુરાતી 
પ્રશ્ન. ૧ અ તપાળત જણાળો.. 

(1) કાઇનેમેટીક્શ અને ડાયનેમમક્શ  
(2) ઱ોઅર ઩ૅર અને ષાયર ઩ૅર  
(3) મ઴ીન અને મીકેનીઝમ 

૦૭ 

 બ ડફ઱ સ્઱ાઇડર કે્રન્ક ચેઇન મીકેનીઝમના જુદા જુદા  ઈન્ળઝઝન જણાળો.. સ્ળચ્છ 

આક્રુમતની મદદથી તેમાાંની કોઈ એક શમજાળો. 
૦૭ 

    
પ્રશ્ન. ૨ અ એક આઇ. શી. એન્ન્જનમા કે્રન્ક 0.2 મીટર અને કનેક્ટીંગ રોડ 0.8 મીટર ઱ાાંફો 

છે. કે્રન્ક 420 rpm થી ક્઱ોકળાઇઝ દદ઴ામા પરે છે. કે્રન્ક I.D.C. થી 300 સ્સ્થમત 
઩ર છે. નીચેની મળગતો ઴ોધો.  
(i) મ઩સ્ટનનો ળેગ.  
(ii) મ઩સ્ટનનો પ્રળેગ.  

૦૭ 

 બ કેમ અને પો઱ોઅરના પ્રકારો જણાળો. સ્ળચ્છ આક્રુમતની મદદથી આઇ. શી. 
એન્ન્જનના ળાલ્ળ મમકેમનઝમન ુકાયઝ શમજાળો. 

૦૭ 

  અથવા  

 બ ABCD એ એક પૉર ફાર મમકેમનઝમ છે, કે જેમા AB=8cm, BC=11cm,CD=9 cm 

AD=16cm, BAD=60°. લ઱િંક  AD દપક્સ્ડ છે. ઩ોઇન્ટ B અને C, ADની  એક જ 
ફાજુ ઩ર છે. લ઱િંક  AB ઘદડયાલના કાન્ટાની દદ઴ામા 60 rpm ની ઝડ઩ે પરે છે. 

તો (a) લ઱િંક CDનો રેખીય ળેગ  અને (b) લ઱િંક BC નો કોણીય ળેગ ઴ોધો. 

૦૭ 

    
પ્રશ્ન. ૩ અ એક નાઇપ એજ પો઱ોઅરન ેનીચ ેજણાવ્યા મજુફની રેશીપ્રોકેટ ગમત આ઩ી ઴કાય  

તેળી  કેમ પ્રોપાઇ઱ દોરો. 
(1) પો઱ોઅર S.H.M. લગતથી કેમના 120

o
 રોટે઴ન દરમ્યાન ફષાર તરપ આળે છે. 

પો઱ોઅરની ઱ીફ્ટ 42 mm છે 

(2) પો઱ોઅર કેમના 60
o
 રોટે઴ન દરમ્યાન ઊંચકાયે઱ો રષ ેછે. 

(3) પો઱ોઅર એક શરખા ળેગથી કેમના 90
o
 રોટે઴ન દરમ્યાન અન્દર તરપ આળે 

છે. 

(4) પો઱ોઅર ફાકીના શમય દરમ્યાન નીચેની સ્સ્થમતમા રષ ેછે. 

(5) કેમની ન્યનૂતમ મિજયા ૩૦ mm છે તથા તે ઘદડયાલના કાટામન દદ઴ામા પરે છે. 

 

૦૭ 

 બ ક્઱શના પ્રકાર જણાળો. મશિંગ઱ પ્઱ેટ ક્઱શની રચના અને કાયઝ જણાળો. ૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ એક મશમ્઩઱ ફેન્ડ બ્રેકમા,  ફેન્ડ 0.8 મીટર વ્યશળાલા અને એન્ટીક્઱ોક દદ઴ામા 
360 rpm ઩ર પરતા બે્રકે ડ્રમના કેન્ર આગલ 270

o 
 નો ખણૂો આંતરે છે. 750 Nm 

જેટ઱ો બ્રેદકિંગ ટોકઝ જોઇએ છે. ફેન્ડનો એક છેડો પ઱ક્રમ શાથે અને ફીજો છેડો 
પ઱ક્રમથી 150 mm દૂર જમણી ફાજુએ લ઱ળરની ઩ીન શાથે જોડે઱ો છે. જો       

૦૭ 
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µ = 0.30, ષોય તો 1.2m ઱ાાંફા લ઱ળરને છેડે જરૂરી ફલ ઴ોધો.  
 બ ડાયનેમોમીટરના જુદા જુદા પ્રકરો જણાળો. રો઩-બ્રેક ડાયનેમોમીટર શમજાળો. ૦૭ 

    
પ્રશ્ન. ૪ અ ઩ાળર ટ્રાન્શમી઴ન મશસ્ટમની જરૂરીયાત જણાળો. ફેલ્ટ ડ્રાઇળના પ્રકાર 

શમજાળો.  
૦૭ 

 બ ફ્઱ટે ફેલ્ટ ડ્રાઇળ  માટે ટેન્઴ન રે઴ીયો (તાણ ગણુોતર) અંગેન ુશમીકરણ  
 T1/T2 = e

μθ
  શાલફત કરો.  

જ્યા, T1 = ટાઈટ શાઈડ ઩ર ઱ાગત ુતાણ 

      T2 = દિ઱ી શાઈડ ઩ર ઱ાગત ુતાણ 

       μ = ઘવઝણ-અચલાાંક 

       θ = ઱ૅ઩ ખણૂો  

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ દરળટેડ લગયર ટે્રઇન શમજાળો અને તેના ઉ઩યોગો જણાળો.  ૦૭ 

 બ એક 120 mm ઩ષોલો અને 10 mm જાડો ફ્઱ેટ ફેલ્ટ 180 rpm અને 0.8m વ્યાશ 
ળાલી નાની પ઱ુી ઩રથી ઩ાળર ટ્રાન્શમીટ કરળા માટે ળ઩રાય છે. ફેલ્ટમા 
ઉત્઩ન્ન થતો સ્ટે્રશ  1.8Mp થી ળધતો નથી. નાની પ઱ુી ઩રનો કોંટેક્ટ 
એંગ઱(ખણુો) 170

o છે અને ઘવઝણાાંક 0.27 છે. શેંટ્રીપરગુ઱ ટેં઴નને અળગણીને 
ફેલ્ટ ઩રથી ટ્રાન્શમીટ થતો ઩ાળર ઴ોધો.  

૦૭ 

    
પ્રશ્ન. ૫ અ નીચેના માટે ટમનિંગ મોમેન્ટ દડાયગ્રામની અક્રુમતઓ દોરો.  

(i) મશિંગ઱ મશલ઱િંડર ડફ઱ એક્ટીંગ સ્ટીમ એંજજન.  
(ii) પોર સ્ટ્રોક શાયક઱ આઇ. શી. એંજજન. 
(iii) પ્રેશ મ઴ીન. 

૦૭ 

 બ ફ્઱ાયવ્ષી઱ અને ગળનઝરનો તપાળત જણાળો. ષાટઝ ને઱ ગળનઝરન ુકાયઝ શમજાળો. ૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ એક મલ્ટી મશલ઱િંડર એંજજન માટે આઉટ ટોકઝ , ટમનિંગ મોમેન્ટ દડાયગ્રામની મીન 

ટોકઝ  ઱ાઈનની ઉ઩ર અને નીચનેી ફાજુમા, એક છેડાથી  +52, -120, +92, -140, 

+85, -75 અને +106 N-m દ઴ાઝળે઱ છે, તો એનજીના મષતમ ફ્઱ક્ચ્યએુચન 
(ળધઘટ)ની ગણતરી કરો અને ફ્઱ાયવ્ષી઱નો માશ ઴ોધો. એંજજનની શરેરા઴ 
સ્઩ીડ  360 rpm છે અને સ્઩ીડના ળધઘટનો ગણુાાંક Ks = 0.025 છે. ગાયરે઴ન 
મિજ્યા 0.5m છે.  

૦૭ 

 બ ફે઱ેન્શીંગની જરૂદરયાત શમજાળો. એક જ પરતા માશ (રવ્યમાન)ને ફે઱ેન્શ 
કરળાની રીત શમજાળો. 

૦૭ 
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